9/11/2017 Staff Selection Commision
Click to Print  logout Challenges

Staff Selection Commission
(Government Of India)

REGISTRATION NUMBER : CANDIDATE NAME :

EXAM DATE : 10-August-2017 EXAM START TIME : 10:00:00
EXAM NAME : SSC Examination EXAM DURATION : 01:00 Hrs
TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 100

QID : 1 - In the following question, select the related word pair from the given alternatives.

Canada : Ottawa::?:?

o vy & i U fawedt § ¥ WEfa wss 7@ %1 giul

Options:
1) Egypt : Cairo
fira : Frfex

2) Norway : Havana
EIEIN

3) France : Rome

I : AW

4) Kenya : Teheran

&1 : dXH

Correct Answer: Egypt : Cairo
o wrfgT

Candidate Answer: France : Rome
i : I

QID : 2 - In the following question, select the related letters from the given a
JQXE : LSZG : : MTNL: ?

Fafared gy o 5T Y fawedt § € Tafid sierl &1 gFQ)
JQXE : LSZG:: MTNL:?
Options:

1) OPVN

2) KRPN

3) OVPN

4) OPL)
Correct Answer: OVPN
Candidate Answer: OVPN

QID : 3 - In the following question, select the related number from the given alternatives.
7:48::11:?

FafaRad vy # faw v fawedl # 9 et dem o1 giul

7:48::11:?

Options:

1) 120

2) 121

3) 131

4) 170
Correct Answer: 120
Candidate Answer: 120

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 1/29
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QID : 4 - In the following question, select the odd word from the given alternatives.
fafoRad wy 7 fow U fwedt # 9 favd weg &1 9w

Options:
1) Square
Eui

2) Rectangle
3d

3) Cylinder
EE]

4) Triangle

Correct Answer: Cylinder

Candidate Answer: Cylinder

QID : 5 - In the following question, select the odd letter from the given alternatives.

Frafafed wy & fou T fawedl & § fawd sier &1 gful
Options:
1)A

2)s
3)U

4)1
Correct Answer: S
Candidate Answer: S

QID : 6 - In the following question, select the odd number from the given alternatives.

FrafiRed vy # fiu 71 fawedl & ¥ favw e &1 giul
Options:
1) 216

2) 125
3) 343

4) 510
Correct Answer: 510
Candidate Answer: 510

N

QID : 7 - Arrange the given words in the the dictionary.

1. Dragon
2. Draculla
3. Dormont
4. Drapery
5. Deviate

iR el & AGHI F 3 I HH & IR ford |

1. Dragon
2. Draculla
3. Dormont
4. Drapery
5. Deviate

Options:
1) 53214
2) 53124
3) 53421

4) 53412
Correct Answer: 53214
Candidate Answer: 53214

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 2/29
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QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KV, LU, MT, ?

T e fean T 8, o @ uw ue qw 81 U T fawedt & § a5 UEt faswe gy, o siwy & g |
KV, LU, MT, ?

Options:

1) NS

2) 0S

3)0u

4) SN

Correct Answer: NS

Candidate Answer: NS

QID : 9 - In the following question, select the missing number from the given series.
3,4,5,4,9 10, 6, 16, 15, 9, 25, 20, 13, 36, ?

FafeRad gy # faw ¢ fosedl # @ g sieb J1d B

3,4,5/4,9,10, 6, 16, 15, 9, 25, 20, 13, 36, ?
Options:
1) 17

2) 25
3) 28

4) 31
Correct Answer: 25
Candidate Answer: 25

QID : 10 - The ratio of present ages of Anil and Aakash is 4 : 5. Three years late|

{fFIeT YT SMTEBT Y dH 31T BT 30T 4 : 5 &1 FH I8 18 JTh! 31T BT
Options:

2)6 »

3)4

4) 10
Correct Answer: 4
Candidate Answer: 4

QID : 11 - Karan remembers that his sister's birthday is not after 18th August. Karan's mother remembers that Karan's sister birthday is before 20th August but
after 17th August. On which date of August is Karan's sister birthday?

P B IS 3 Bl IYD! I8 BT A 18 3T & §IC el &1 B B Hi DI UG ¢ b B B 987 BT SFHIS 20 3R Y Ugd Afch 17 3FRA & dIE g1 A Bl
e B ST SR B fbd dRig & 82

Options:

1) 18

2)17

3)19

4) 20

Correct Answer: 18

Candidate Answer: 18

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.

Superconductors
feu Mo gy ¥, Fafied Aol § § 98 Wsg 9T S U U Teg & S1erT BT WENT SR et SR S Wbl g

Superconductors

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 3/29
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Options:
1) Sports

2) Spunt
3) Stern

4) Spectrum
Correct Answer: Spectrum
Candidate Answer: Spectrum

QID : 13 - In a certain code language, "PEN-TAN" is written as "0". How is "DEN-COB" written in that code language?

U IR HIs 4w H, "PEN-TAN" &1 "0" Rl ST 81 39 e HINT H "DEN-COB" &1 fhg UHR forar smamm?
Options:
1)8

2)3
3)9

4)7
Correct Answer: 3
Candidate Answer: 3

is true?

Options:
1) 16 + 19x21 -5 =201 an
2)5x6+4+3=37/6
3)6x3+12+3=21

4)18 x 6 +8-12=36

Correct Answer: 18 x 6 - 8-12 =36
Candidate Answer: 18 x 6 +8-12=36

afe "+ T ok O R, "+ T 3 T B, " T 9 oflg @ et "x T 3 vy , e A (&%% ;

QID:15-If5#9@7 =52and 3@ 9 # 2 = — 89, then
7#6@9=7?
U5 #9@7=520U3@9#2=—-89%,dl

7#6@9="?

Options:

1) 67

2)56

3)43

4) 28

Correct Answer: 67

Candidate Answer: [ NOT ANSWERED ]

QID: 16 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

e uw § for o7 feeut & @ uw "=
(?) & TUF W A el TEAT H FEAT

3 17 2 16 6 13
11 <4 10 7 15 ?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c#
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Options:
1)1

2)2
3)3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID:17-
How many triangles are there in the given figure?

81§ sl # Rt Pager ¥2

/

Options:
1) 12

2)13
3)15

4) 18
Correct Answer: 15
Candidate Answer: 15

QID : 18 - In each of the following question below are gi lowed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly kno ns and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All stars are white.
II. All white are moon.
III. No moon is blue.

Conclusions:

I. Some moon are stars.
II. No blue is stars.

III. Some white are stars.
IV. Some blue are white.

12 fou 7T Ud® Uy W $© HU IR 3% 1 37 Yl R SR T ey fAu w7y §, graife 38w 1 awt @ it 8) gt 81 Tt ey 13 v i
fuffed 3 & T 10 o1 3 Frsed faw T8 St & SMYR W fiTa B

PY:

1. 3+t IR gibe g
11 o) wibg 9ig
II1. S wie =fiar 72T B

fore:
1. $3 dic ar &1
Il.ggs‘:ﬁmam%"f%l

III. % Jibe dR gl
1v.g=ﬁw@o—c:%|

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 5/29
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Options:
1) Only conclusion (I), (II) and (III) follow.
Pae SRy (1), (11) 9UT Fspy (111) 98 &1
2) Only conclusion (III) and (IV) follow.
Faa Fesy (111) qur ey (1v) 98
3) Only conclusion (I), (II) and (IV) follow.
Fad ey (1), (11) YT Fspy (1v) T8 &
4) Only conclusion (II), (III) and (1V) follow.
B (11), (111) YT FIsh (1v) el &
Correct Answer: Only conclusion (I), (II) and (III) follow.
Fad Py (1), (1) au Fsey (11) 98 g
Candidate Answer: Only conclusion (I), (II) and (III) follow.

Faer Y (1), (11) a1 =By (111) 9 &

QID:19-
Three positions of a cube are shown below. What
will come opposite to face containing ‘5?7

&R TR T B i aEa R it &) 3
‘5' % foulig Tor W FiF 71 JF HA?

Options:
1)1

2)3
3)4

4)6
Correct Answer: 1
Candidate Answer: 1

QID: 20 -
In the given figure, how m

aﬁmﬁ,m

Printed /

e =56 14 & Books / g&EaH

9 . 1%2‘_ Fiction /
HreUferd

Options:
1) 23

2) 18
3)53

4) 41
Correct Answer: 41
Candidate Answer: 18

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 6/29
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QID:21-
Which answer figure will complete the pattern in the
question figure?

BT O 39T ApE Uy Hgfa & u[wT F g
FN?

?
"

N

Options:
1)

Z
3

2)

3)

7,

4)

A

Correct Answer:

A

Candidate Answer:

A

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 7129



9/11/2017
QID:22-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3T Agfadl # ¥ 3@ 3wl & glEw
o & uy el BT &

Options:
1)

2 L/
2)

)

3)

T
N

4)

8

Correct Answ

er:

)

Candidate An.

swer:

)

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c#
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QID:23-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

fr & oy Igpfaat # fR@m WgER oA #
Az Deet I Wieled & dig 9F FE I HTgia
st e gome

D

¥
|
#
e
h

5

oo
oo

R
x4

Options:
1)

2)

oo
oo

3)

oo
oo

4)

o
oo
oo
o

Correct Answer:

o o
oo
oo

o o

Candidate Answer:

a o
oo
oo

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 9/29
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QID: 24 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afe e Zur F AB @1 UT T AW, & &

3 AplaOT # O HlF o deY oy A &
mer ufafess gefe

Options:
1)

2)

3)

H
=

Co| (K] 1] |2

Correct Answer:

<o

Candidate Answer:

<o

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 10/29
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QID: 25-

A word Is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘P’ can
be represented by 32, 44, etc,, and ‘U’ can be represented by 76, 88, etc.
Similarly, you have to identify the set for the word “PALE".

Th ¢EG Shad Uh OEIT-OHp gR i wan § 3 f Awedt & @
e oo A R wrar ¥ Rweul F B v dEArEep e & Q) gt
gRT gofT o ¥ St 5 U aw g ameget & ¥ eme & wEe 3R
ufeh 1 wEar 0 @ 4 % 3T eyl & 5 9 3 wegE A wh HEW W
Upe 366 O 3 aig & ToFd OmaT g Sui S Tear &) e
& T P &l 32, 44, WG TRT xS WeHAT & aur ‘U @ 76, 88,
e grr geffar o whar ¥ =W ave @ auw un # RBu o “PALE”
& fav @ & uggEer 3

Matrix-| Matrix-ll

- IneE-Il
of(1(23(4 2| 6|7|8(9
0IR[P |S]|1]|A S|LIE|U|G]|J
1|1|A|R[P|S 6|G|J|L|E|U
2|F[s ) | AR TIE|U|G|J]|L
3IlAIR|P|S]I 8|J|L|EJU|G
4|81 |A|R|P 9|U|G|J|L|E

Options:
1) 43, 23, 55, 56

2) 33, 30, 67, 75
3) 11, 42, 86, 98

4) 20, 04, 79, 87
Correct Answer: 20, 04, 79, 87
Candidate Answer: 20, 04, 79, 87

QID : 26 - Which among the following is

Fafeiad & ¥ S 91 Y GgeH & of

Options:

1) Current Account

EIGESIG

2) Capital Account

oihTa @

3) Official Reserves Account
SARI& @rar

4) Unilateral Payments Account

Th-aRWT YT @1l

Correct Answer: Official Reserves Account
SRIET @

Candidate Answer: Official Reserves Account
SRI& T

Payment?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 11/29
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QID: 27 -
Match the following.

IGEGIGICERCIRE: CIGEG I il

Staff Selection Commision

Term / 2=
1. Globalisation

TfreEToT

2. Privatisation

=fteroT

3. Liberalisation

ETARIE |

Options:
1) 1-c, 2-a, 3-b

2) 1-b, 2-c, 3-a
3) 1-b, 2-3, 3¢

4) 1-c, 2-b, 3-a

Meaning / 3197

Process of reducing or
removing restrictions on
international trade.

HIWET SWIR W ufaay
A LT TT &S hT UThIT]

Process of interaction and
integration among the people,
companies and government
of different nations.

fafdr=a it & <en, wufaar
JUT TTHERT F dr= TR
JAT ThRRToT A ultram

Called as denationalization or
disinvestment.

R o Ry
FEATT B

Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: [ NOT ANSWERED ]

QID : 28 - Who appoints Governor of a state inIndia?

YRA T T & ITUTd Bt gfed 1A Rl 82
Options:

1) Prime Minister of India

HRA & JUHHA

2) Council of Minister

3) Judge of Supreme Court
Hate <rTe BT rTei
4) President of India

URA &

Correct Answer: President of India

HRA & Ayufd

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - What is the literal meaning of 'Certiorari'?

IATTC A7 IO F 7 AT 22

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c#

12/29
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Options:
1) We command

2) To have the body of

T I TRRR TRgd FA

3) To forbid

&HT AT

4) To be certified (or) to be informed

VIO =T AT AHBRY

Correct Answer: To be certified (or) to be informed
IO AT IT SHSRT ST

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - Which among the following Mughal Emperor was illiterate?

fofafed & S o grra e sififéa ure
Options:
1) SharlJahan

g el
2) Aurangzeb
T

3) Akbar
bR

4) Jahangir
ERUIN

Correct Answer: Akbar
S{heR

Candidate Answer: Akbar
ShaR

QID : 31 - Where was the 'Azad Hind Fauj' founded?

"3HTG f3=g TIoT B RITTT Fgl B TS o
Options:

1) Singapore

2) Thailand

3) Britain

4) Italy

Correct Answer: Singapore

Candidate Answer: Italy

QID : 32 - Strait of Malacca separates which two land masses?

TEahT TASHREHe fa & YU Bl 31eRT IRl 67
Options:

1) Malay Peninsula and Indonesian Island of Sumatra
T URIgIg T SSIRIAT &7 410 A

2) Africa and Europe

STBIHT qUT Y

3) India and Sri Lanka

YR 7T S

4) North America and South America

FA ST T afémlt smfe

Correct Answer: Malay Peninsula and Indonesian Island of Sumatra
T UAEd IUT SSIHREAT &1 g AT

Candidate Answer: [ NOT ANSWERED ]

QID : 33 - The latitude which passes through Sikkim also passes through .
Rifepw | ToRA aran i  oft ToRar 31

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 13/29
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Options:
1) Haryana

2) Rajasthan
RUSAIE
3) Uttarakhand

4) Himachal Pradesh

Correct Answer: Rajasthan
XTSI

Candidate Answer: [ NOT ANSWERED ]

QID : 34 - Which of the following is not a plant hormone?

Fofarad & § ®1F a1 FRgfasiTd &1 g1 8 82
Options:

1) Gibberellic

ISEINED

2) Auxins

i

3) Cytokinins

4) Thyroxin

YRR

Correct Answer: Thyroxin

Candidate Answer: Gibberellic

QID : 35 - Nephron is related to which of the following system of human body?

Fofafad 3§ 4 Arg TR @t few yumeh @ Sl Jeifdd 82

Options:
1) Circulatory system
YRR Jorredt

2) Excretory system
oIt
3) Reproductive system
S goTTedt
4) Respiratory system
I YoTTel!
Correct Answer: Excretory system

Candidate Answer: Respiratory system V,
49 oITedt ¢

QID : 36 - Which Vitamin is obtained from Sun rays?
g & il & B 1 faerfoe U giar 82

Options:

1) Vitamin A

faerfem

2) Vitamin C

3) Vitamin K

4) Vitamin D

[EEIEEES]]

Correct Answer: Vitamin D

Candidate Answer: Vitamin D

QID : 37 - Speed of light is maximum in .
B TR Bt T watfe g

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 14/29
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Options:
1) vacuum

2) solids
3 uerf
3) liquids
a gl
4) gases
k|

Correct Answer: vacuum

Candidate Answer: vacuum

QID : 38 - What is the SI unit of electric current?

fagad 4R &1 TH. 3. AES T 82
Options:
1) Newton

e
2) Joule

kS
3) Ampere
SAURR

4) Watt
qI1c

Correct Answer: Ampere

Candidate Answer: Ampere

QID : 39 - An IP address is bit number.

WK Tgy_ e el
Options:
1)8

2) 32
3) 64

4) 104
Correct Answer: 32
Candidate Answer: 8

QID : 40 - Process of loosing electrons is kn

TAFCT Y& B BT T B Cakd!
Options:
11 oxidation

2) reduction
3UIgq
3) radiation

4) both oxidation and reduction
qUT ST AT
Correct Answer: oxidation

andidate Answer: both oxidation and reduction
TUT TG ST

QID : 41 - Anions are formed by .

BT FRI T B

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 15/29
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Options:

1) losing of electrons
SGEEECE]

2) galning of electrons

3) ggining of neutrons

4) losing of neutrons

Correct Answer: gaining of electrons

Candidate Answer: losing of electrons
Yar

X

QID : 42 - Which among the following is the major cause of acid rain?

froffad & ¥ sy auf &1 ger HRU 31 82
Options:

1) Carbon Qioxide

P SEHTFIZS

2) Carbon monoxide

EIER RS BIRIER IR

3) Nitrogen digxide

ASCIoH SIS3iiasS

4) Oxygen

SHTerter

Correct Answer: Nitrogen dioxide
ECIoH ST3HTES

Candidate Answer: Carbon dioxide
P SRS

QID : 43 - First state to implement Saur Sujala Yojana is

TR GoTel ST AR PR aTel T o4 B
Options:
1) Chattisgarh
BTG

2) Uptafanchal
RNES]
3) Gujarat

4) Maharashtra

HERTE

Correct Answer: Chattisgarh

Candidate Answer: Gujarat

QID : 44 - Who is known for the invention of "World Wide‘ Web"?

‘IS 138 39 a1 fay arh AT & SifashR ¥ fo i Sy e 82
Options: ¢

1) Sir Tim-Berners-Lee

W for o ot

2) Maxwell

Agmad

3) Martin Cooper
e

4) S A Forbes
T, U sy

Correct Answer: Sir Tim-Berners-Lee

W fer s <

Candidate Answer: Maxwell

QID : 45 - B. Sai Praneeth is associated with which of the following sport?

. I ey B 9 few v ¥ wefd 82

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 16/29
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Options:
1) Hockey

2) Ba}dminton

3) Chess
TR
4) Boxing

Correct Answer: Badminton

Candidate Answer: [ NOT ANSWERED ]

QID : 46 - Which of the following pair is incorrect?

fraffaa & @ $ a1 Sier et 721 82

Options:

1) Muthuswami Dikshitar - Carnatic Music
e - pfe® Wi

2) Parveen Sultana — Singer

3) M.S. Gopalakrishnan — Violinist

Y. T, MOTeHwH -

4) Nandlal Bose — Flute

Feard o - g

Correct Answer: Nandlal Bose — Flute

Fedrd o - gl

Candidate Answer: M.S. Gopalakrishnan — Violinist
M. T, MUH™H -

QID : 47 - Who among the following is the 2017 Asian Award recipient for the outstanding achieye! en
fFrafafad & 3 o9 IR & &7 § I Thadl & 1T 2017 & TRGT RIPR Wb 82

Options: | (/) ‘

1) Kunal Nayyar
TR

2) Vishal Bhardwaj

fa=ma URg

3) Om Puri

o gl

4) Zeishan Quadri
SR Predt

Correct Answer: Kunal Nayyar
U TER
Candidate Answer: [ NOT ANSWERED ]

QID : 48 - Who amongst the following is fhe author of th

e # | g S grT ergHe siftmst @1 &1 Siias] T : & s @R foredt 71 22
Options: ]
1) Yasser Usman

IR ITEH

2) Anand Neelakantan

3Hq :

3) Ram Kamal Mukherjee

H HHT

4) K. Vijay Kumar

. faoa FUR

Correct Answer: Yasser Usman

IR ITEH

Candidate Answer: [ NOT ANSWERED ]

ekha : The untold story" a biography on a veteran actress Rekha?

QID : 49 - Which among the following country exited from Trans Pacific Partnership (TTP) in Jan 2017 ?

Fofafad & § S 1 3 et 2017 H T WRife urdRRM I aer Fed

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 17/29
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Options:

1) Japan

KICIG]

2) USA

Tgad I AR
3) Mexico

ARyt

4) Brunei

Correct Answer: USA
Tgad I AR
Candidate Answer: [ NOT ANSWERED ]

QID : 50 - Which of the following country doesn't matches to its famous tourist place?

fofafed & § S I 3 oo UG tied Rid ¥ A &Y @
Options:

1) China — Great Wall of China

I — = BT fazma SR

2) Bhutan - Paro Taktsang

Y — dledrs

3) Nepal — Pashupatinath Temple

UTe - UxgEfATY HieR

4) Sri Lanka — Padmanabhaswamy Temple

Correct Answer: Sri Lanka — Padmanabhaswamy Temple
Candidate Answer: Nepal — Pashupatinath Temple

AT — TRqUfeTY TR

>

QID : 51 - How many numbers are there from 2000 to 7000 which are both perfect squares an erféé>u 87

2000 ¥ 7000 deb V& et Tt & o qof avf ot oo & G &2 -
Options: }/ N
1)0 \

2)1

3)2 '
4)3

Correct Answer: 1

Candidate Answer: 0

QID : 52 - 3 men or 4 women can complete, 12 m

3 Yo 37T 4 Hiemd Ueb B Bl 120 31 H 07
Options:
1) 12

6 women will complete the same job in how many days?

T 16 TfeATE I HT B1 fopem o=t & g1 H¥e

2) 14
3) 15

4) 18
Correct Answer: 15
Candidate Answer: 15

QID : 53 - If the diameter of a hemisphere is 21 cm, then what is the volume (in cm3) of hemisphere?

Tfe w1 M &1 3 21 A, &, & 3ref M o7 e (F..3 ) e g
Options:

1) 2810

2) 1250.5

3) 1725.25

4) 24255

Correct Answer: 2425.5
Candidate Answer: [ NOT ANSWERED ]

QID : 54 - After two successive discounts of 20% and 12% an article is sold for Rs 16896. What is the marked price (in Rs) of the article?

20% TUT 12% B &I Hil® Fe b 915 TP a%] Bl 16896 . H T W1 § | a%g BT 3ifdrd Ted (3. H) o1 82
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Options:
1) 21500

2) 23800
3) 22000

4) 24000
Correct Answer: 24000
Candidate Answer: 24000

QID : 55 - The ratio of speed of three racers is 3 : 4 : 6. What is the ratio of time taken by the three racers to cover the same distance?

I Taw! BT A BT AU 3 : 4 1 6 81 TAM g 90 IRA A I GRT o T THI BT 30N 1 GIIT?
Options:

1) 3:4:6

2) 6:4:3

3) 4:3:2

4) 2:3:5

Correct Answer: 4:3:2

Candidate Answer: 4:3:2

QID : 56 - In a match, average of runs scored by 7 players is 53. If the runs scored by 6 players are 121, 40, 26, 56, 37 and 48, then how many runs did the 7th
player scored?

TP A9 H 7 AT & §R1 T T A Braid 53 21 afe 6 FIenfSal & §RT ST MU A 121, 40, 26, 56, 3ATUT
Options: N
1) 26 o
2) 37
3)43

{z;%,a‘rﬁmﬁmﬁﬁw?ﬁ?

4) 48 -
Correct Answer: 43 }
Candidate Answer: 43 P o\

QID : 57 - Mohit buys an old bicycle for Rs 2700 and spends Rs 500 on its repai

TiRd T R A3fed 2700 T. F TSdT & YT 500 3. IqH! ARG R T
Options:
1) 10

2) 125 0
3) 15
4)20

Correct Answer: 10
Candidate Answer: 10

ells tr}; bicycle for Rs 3520, then what is his profit percentage?

B 3520 %. § STl B, dl ST oH Ufard fbda 82

QID : 58 - If the price of onion increases from Rs 24/kg
expenditure remains same?

T AT BT Hed 24 %, Uld {3,901, 9 36 %, ufa {6 701, 81 i 8, O U ool &1 wiret ) U fobe vfa=rd &3 R 3 91fg anfds oo 9 382
Options:

1) 25

2) 33.33

3)50

4)20

Correct Answer: 33.33

Candidate Answer: [ NOT ANSWERED ]

en by what percentage a household should decrease the consumption of onion so that

QID : 59 - A train travels 20% faster than a car. Both start from point A at the same time and reach point B, 180 km away at the same time. On the way the train
takes 30 minutes for stopping at the stations. What is the speed (in km/hr) of the train?

T YS! Uh BR T 20% Aof Tt 31 Sl fig A T T & THT IR URY B § a7 180 fb.1ft. R Ry fiig B R twr & wvg R ug=a €1 Anf & Yemel Rz )
FTH & forg 30 e o B 1 Yot & v (Fp. . ufar ger 7) s @2

Options:
1) 56

2) 66
3)72

4) 80
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]
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QID: 60 -
A sum of Rs 720 amounts to Rs 882 at simple interest

in 1% years. In how many years will the sum Rs 800

amounts to Rs 1040 at the same rate?

7203.2%1@1%3&?:&141#:@@13#8825@1

STt & fora aut # 800 Hrufr mam 2T @
1040 %. & SATmefr?

Options:
1)3

2)2
3)4

4)6
Correct Answer: 2
Candidate Answer: 2

QID : 61 - If (x/y)®* = (y/x)%®5, then what is the relation between x and y?

Tl (x/y)24 = (y/%)225, Al x quT y & s o1 ey 32
Options:

1)x>y

2) Cannot be determined

1d g1 T S qhell

3)x<y

4)x=y

Correct Answer: Cannot be determined
1A el a1 I qhell

Candidate Answer: [ NOT ANSWERED ]

QID:62-
o, WO S

X
x* +5x° +3x% +5x 40
x* +1

+ +5x+1
P

4
ofe x+%=3,?—|’f x* +6x°
& AT FIT €7

Options:
1) 25/7

2)4
3) 31/7

4) 33/7
Correct Answer: 25/7
Candidate Answer: [ NOT ANSWERED ]

QID : 63 - If 3a — (3/a) — 3 = 0, then what is the value of a3 — (1/a3) + 2?

Tfd 3a— (3/a) - 3 = 0, dl a3 — (1/a3) + 2 BT U T §?

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c# 20/29
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Options:
1)0

2)2
3) 4

4)6
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID: 64 -

X+ﬁ x—¥ 1 =194, then what is the
x—x2 -1 x+w'fX A

value of x?

x+x° - x—xﬁ
= M~ \,xz—ﬂ x+wfx2—‘l
&7

Options:
1)7/2

=194, @ x & AF

2)4
3)7

4) 14
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In AABC, AD is the median and AD = (1/2)BC. If ZACD = 40°, thel

Y ABC H, AD AfEehT § TUT AD = (1/2)BC 81 TfE LACD = 40° §,

Options:

1) 30

2) 40

3)50

4) 80

Correct Answer: 50
Candidate Answer: 30

QID : 66 - Circum-centre of AABC is O. If ~BAC = 75° and "ZBCA = 80°, then what is the value (in degrees) of ZOAC?

e ABC &1 URE% O §1 TfE £BAC = 75° TUT £BCA = 80°% ar 20AC &1 |7 (f&3ht #) = gme

Options:

1) 45

2) 65

3) 90

4) 95

Correct Answer: 65
Candidate Answer: 45

QID : 67 - Smaller diagonal of a rhombus is equal to length of its sides. If length of each side is 4 cm, then what is the area (in cm2) of an equilateral triangle with
side equal to the bigger diagonal of the rhombus?

T FHAGH F1 BieT A0l IUBT YeIsll 3 TS F R 31 S TS Yol Bt awls 4 9.1 7, @ 39 qqaTg By &1 dawd (.82 &) 71 g et o
THEIHS b §S ol & R 82

Options:
1)6

2) 9v3
3) 12

4) 123
Correct Answer: 12v3
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Candidate Answer: [ NOT ANSWERED ]

QID: 68 -
In the given figure, MN = RM = RP, then what is the
value (in degrees) of ~MPR?

& oS e A, MN=RM=RP & a1 ZMPR T
AT (T2l ) Fr &2

S
102° A
|
Q = M ' N

Options:
1) 47
2) 68
3)72

4) Canr)ot be determined
STd T faan S T

Correct Answer: 68

Candidate Answer: Cannot be determined
a0 e foam ST waar

QID : 69 - What is the simplified value of (cos A + si
(cos A + sin A)(cot A + tan A) BT TRAlIHd
Options:

1) sec A + cosec A
2)sin A+ cos A

3)tan A + cot A

4) sec A—cosec A
Correct Answer: sec A + cosec A
Candidate Answer: sec A + cosec A

QID: 70 -

cosec A cosec A "
cosec A-1 cosecA+1

What is the simplified value of \,

cosec A 2 cosec A mmmm%?
cosec A—1 cosec A+1

Options:

1) V2 secA

2) V2 cosec A

3)sec 2A

4)2secA

Correct Answer: V2 sec A
Candidate Answer: V2 cosec A

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885¢c#
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QID: 71 - If 2 cos © = 2 — sin B, then what is the value of cos 6?

Tfg 2 cos © = 2 —sin 6, A cos 6 T HF FT RIT?
Options:

1) 1or3/5

1371 3/5

2)1lor-1/2

131-1/2

3)-1or-1/2

-131-1/2

4) -1 or 3/5

-1313/5

Correct Answer: 1 or 3/5
131 3/5

Candidate Answer: [ NOT ANSWERED ]

QID:72-
The table given below shows the ratio of exports
and imports of a country for 5 years.
Total trade = exports + imports

& & T aIftreRr F T 3 & 5 gut & EEa
AT AT & [T BN AT TAT €

T WUR = AT + BT

Year Exports : Imports
GL) ot : s

Year 1 /a¥ 1 10:9
Year2/a§2 1:7
Year3/a¥ 3 4-3
Year4 /a¥ 4

Year5 /a9 5

If the total trade of the country in year 3 was 1183 crore
year?

IfE A 1 Y 3 7 Hof IR 1183 HAS Sl 4, dll S8l 98 3= & 3 U1 Fafd & o= o1 SiaR (FR1S Sler H) e ar
Options:

1) 169

2) 173

3) 142

4) 158

Correct Answer: 169

Candidate Answer: [ NOT ANSWERED ]

at was the difference (in crore dollars) between exports and imports of the country in that
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9/11/2017 Staff Selection Commision
QID:73-
The table given below shows the ratio of exports
and imports of a country for 5 years.
Total trade = exports + imports

&= &Y 7 T # U gy F 5 aut & oEE
AT AT F U Hr SATAT T §
T IR = HAE + 2T

Year Exports : Imports
GL aga: smaa
Year1/a¥ 1 10:9
Year2/a¥ 2 g B
Year3/a¥ 3 4:3
Year4 /a¥ 4 5:8
Year5/a¥5 12 :13 {

e

oy
The total trade for Year 2 and Year 4 is same. If exports of Year 4 are 315 crore dollars, then what are t?Qmport (in crore dollars) of Year 2?
gy v
Y 2 FUT T 4 PT F AR FAF g1 A T8 4 HT Fa{d 315 HAS SR T, T T 2 BT AT (PR zﬁf)%m%?
\ -

Options:

1) 306.4 27N Ny
2) 309.8 (

3)323.7

4) 318.5 -

Correct Answer: 318.5
Candidate Answer: [ NOT ANSWERED ]

QID: 74 -
The table given below sho
and imports of a country for
Total trade = exports + imparis

d & o T # v &9 & 5 Tu & fla
TAT AT &F AT N A 4l €
Tl SWUR = AT + BT

Year Exports : Imports
GL IGDIGHE DG
Year 1 /a¥ 1 10:9
Year2/a¥ 2 M7
Year3/a¥ 3 4:3
Year 4 /a¥ 4 5:8
Year5/a¥ 5 12 :13

Total trade of Year 1 is twice of the total trade of Year 5. If total trade of Year 1 is 5700 crore dollars, then what is the difference (in crore dollars) in exports of Year

1 and Year 5?

Ty 1 1 el AUR Y 5 % Pl IR BT AT 2| IS I8 1 BT Pol AR 5700 HRAIS SIeR 8, A a1 TUT Y 5 & Fafd § b 3ieR (Prs Sier #) g
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Options:
1) 1835
2) 1632
3) 1368
4) 1423

Correct Answer: 1632
Candidate Answer: [ NOT ANSWERED ]

QID: 75 -
The table given below shows the ratio of exports
and imports of a country for 5 years.
Total trade = exports + imports

&= &Y 7 T # U gy F 5 aut & oEE
TAT AT F U Hr SATAT T §
Tl TUR = A + FaE

Year Exports : Imports

GL aga: smaa
Year1/a¥ 1 10:9
Year2/a¥ 2 i &
Year3 /a9 3 4:3 g Nt
Year 4 /ay 4 5:8 )
Year5 /a5 12:13 )

The total trade of 5 years is 3800, 3600, 2800, 3900 and 5000 crore dollars re
imports respectively?

at is the difference (in crore dollars) in the average exports and average

5 9N &1 Hof IR FHH: 3800, 3600, 2800, 3900 TUT 5000 ata quT Siraa imard & fba iR (FR1S STaR #) 372

Options:

1) 60

2) -60

3)-90

4) 120

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No error'.

On Sundays (1)/ I prefer reading (2)/ than going out visiting my friends. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No error'.

Rohit is two year (1)/ junior than Mukesh (2)/ in the office. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c# 25/29
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QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

God is .

Options:

1) immanent

2) mortal

3) imminent

4) deference

Correct Answer: immanent

Candidate Answer: [ NOT ANSWERED ]

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Riya her matriculation examination in 2016.
Options:

1) completed

2) passed

3) obtained

4) gathered

Correct Answer: passed

Candidate Answer: [ NOT ANSWERED ]

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word girn.

Articulate
Options:

1) Dominate :
2) Distinct R

3) Helpers \)

4) Unsteady
Correct Answer: Distinct
Candidate Answer: [ NOT ANSWERED ]

QID : 81 - In the following question, out of the four alternatives, select the wor: i 5hing to the word given.

Ascend

Options:

1) Lay

2) Climb

3) Weaken

4) Void

Correct Answer: Climb

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - In the following question, out of the four altern , select the word opposite in meaning to the word given.

Waggish
Options:

1) Jocular
2) Whimsical
3) Flippant
4) Solemn

Correct Answer: Solemn
Candidate Answer: [ NOT ANSWERED ]

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Desecrate
Options:
1) Sanctify
2) Profane
3) Befoul
4) Defile

Correct Answer: Sanctify
Candidate Answer: [ NOT ANSWERED ]

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Will-o-the wisp
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9/11/2017 Staff Selection Commision

Options:

1) Something that is impossible to get or achieve.

2) To keep off an unwanted and undesirable person.
3) To spend recklessly.

4) Accept or leave the offer.

Correct Answer: Something that is impossible to get or achieve.
Candidate Answer: [ NOT ANSWERED ]

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To go through fire and water

Options:

1) To scold someone

2) To experience many dangers in order to achieve something

3) To act without restraints

4) Something which hurts

Correct Answer: To experience many dangers in order to achieve something

Candidate Answer: [ NOT ANSWERED ]

QID : 86 - Improve the bracketed part of the sentence.

We do not (agree on) certain things.
Options:

1) agree to

2) agree about

3) agree of

4) No improvement

Correct Answer: No improvement
Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Improve the bracketed part of the sentence.

There are two pens here and (either write) well.
Options:

1) either have written

2) either wrote well

3) either writes

4) No improvement

Correct Answer: either writes

Candidate Answer: [ NOT ANSWERED ]

QID : 88 - In the following question, out of sele alternative which is the best substitute of the phrase.

A strong blast of wind.
Options:

1) Implosion

2) Trickle

3) Gust

4) Mantle

Correct Answer: Gust

Candidate Answer: [ NOT ANSWERED ]

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Phobia of dogs

Options:

1) Orophobia

2) Cynophobia

3) Vatrachophobia

4) Phemophobia

Correct Answer: Cynophobia

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Bulettin

2) Barrage

3) Buoyant

4) Beginner

Correct Answer: Bulettin

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_cglet1_17/response_questions.php?t_id=MTAwODIwMTc=&appid=1368062d74107fc05177712c90c3885c#
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QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Guidance

2) Ambassador

3) Handkercheif

4) Labourer

Correct Answer: Handkercheif

Candidate Answer: [ NOT ANSWERED ]

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: He was a funny looking man with a high, bald, done shaped head, a face very small in comparison and a long wavy beard.
Q: He didn't work at his trade-a stonecutter, more than what was necessary to keep his wife and three boys alive.
R: His unusual features were standing a joke among his friends.

S: He was a poor man-an idler.

Options:

1) PRQS

2) QPSR

3) RQPS

4) SRPQ

Correct Answer: PRQS

Candidate Answer: [ NOT ANSWERED ]

mo;t logical order of the sentences to form a

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select tf
coherent paragraph.

P
W

S
P: When all the credit worthy people were given loans to a logical limit, they ceased to be a part of the r{arket. )
Q: Even this would have been understandable if it could work as an eye opener. )

R: Owing to the materialistic culture elsewhere, it was possible to keep selling newer products to #fe coRsumiers’despite having existing ones which served equally
well. l)

S: They were lured through advertising and marketing techniques of 'dustbinisation’ of the custo er an then finally, once they became ready customers, they were
given loans and credits to help them by more and more. & -

Options: fl
1) PRQS

2) RSPQ

3) QSPR

4) RPQS

Correct Answer: RSPQ

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In the following question, a sente in Acti

same sentence in Passive/Active voice.

assive voice. Out of four alternatives suggested, select the one which best expresses the

John was arrested on a charge of murder, but f e he was released.

Options:
1) The police arrested John on a charge of ‘murder, but for of evidence released him.

2) John was arrested on a charge of murder but was released for lack of evidence.

3) The police arrested John on a charge of murder, but for lack of evidence he was released.

4) John had been arrested on a charge of murder, but for lack of evidence he had been released.
Correct Answer: The police arrested John on a charge of murder, but for lack of evidence released him.
Candidate Answer: [ NOT ANSWERED ]

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He said, "I saw a snake here."

Options:

1) He said that he had seen a snake there.

2) He said that he saw a snake here.

3) He said that he saw a snake there.

4) He said that he had seen a snake.

Correct Answer: He said that he had seen a snake there.

Candidate Answer: [ NOT ANSWERED ]

QID : 96 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of expediency and need not always be . If something
is wrong and expedient, it cannot be
Morality is with ethics and symbolises the doctrine of actions right or wrong.
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Options:

1) discussed

2) identified

3) recognised

4) rectified

Correct Answer: identified

Candidate Answer: [ NOT ANSWERED ]

QID : 97 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the
is wrong and expedient, it cannot be .

of expediency and need not always be . If something

Politics is the of expediency
Options:

1) source

2) collection

3) requirement

4) notion

Correct Answer: notion

Candidate Answer: [ NOT ANSWERED ]

QID : 98 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the of exp ie{cy‘ and need not always be

is wrong and expedient, it cannot be . TG

. If something

and need not always be . ; )
Options: N N

1) wrong }

2) right
3) neutral
sage carefully and select the correct answer for the given blank out of the

4) different
Correct Answer: right
Candidate Answer: [ NOT ANSWERED ]

QID : 99 - In the following passage some of the words have been left o
four alternatives.

Morality is with ethics and symbolises the doctri
is wrong and expedient, it cannot be

. Politics is the of expediency and need not always be

. If something

If something is wrong and expedient,
Options:

1) merely

2) essentially

3) surely

4) hardly

Correct Answer: merely

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Morality is with ethics and symbolises the doctrine of actions right or wrong. Politics is the
is wrong and expedient, it cannot be .

of expediency and need not always be . If something

it cannot be

Options:

1) justifiable

2) relevant

3) acquired

4) immoral

Correct Answer: immoral

Candidate Answer: [ NOT ANSWERED ]
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